
Your luck 
has multiplied!

Take a 
shortcut.

You missed 
your bus!
Go back 
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Rules:
1. Player 1 rolls the die and counts forward that number of spaces.
2. Player 1 answers the question on the square. 
3. If the answer is incorrect, Player 1 remains on the square he/she was on before. 

If the question is answered correctly, Player 1 move forward to that space.
4. Player 2 rolls the die.
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6 x 3 = 9 x 5 = 7 x 7 = 4 x 8 = 

5 x 4 = 8 x 6 = 3 x 12 = 10 x 5 = 7 x 9 = 4 x 11 = 

8 x 5 = 

2 x 12 = 6 x 7 = 12 x 5 = 


